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Using Your Percent Sense

|, These are 30% of the petals from a flower.

D()()

(a) Show how the flower might have looked with 100% of its petals.

(b) What percentage of the flower is one petal?

£ This is 150% of a rectangle.

(a) Shade 50% of that rectangle.

(b) Explain why the unshaded part is 100% of that rectangle.




%, Thisis 120% of a smaller figure.
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a. Draw 20% of the smaller figure.

#{, This is 160% of a smaller figure.

a. Draw 10% of the smaller figure.

b. Shade 100% of the smaller figure.

4. This is 160% of a smaller figure.

Shade the smaller figure.




